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Name: 

Daily Word Problem

E-41

________________________How many miles did Emily walk?

________________________

Suppose Emily walks the same 
route back home. How many 
miles did she walk in all?

Show your work.

The park is located 1.58 miles east of Emily’s house, and the 
ice cream shop is 0.46 miles south of the park. Emily walked 
from her house to the park, and then from the park to the ice 
cream shop.

1.58 miles

0.46 miles



Daily Word Problem
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Name: E-42

________________________
How many boxes did they 
need for this order?

________________________
How many donuts were in  
the box that wasn’t full?

Show your work.

The Donut Hut packages donuts in boxes of 12. They had an 
order for 165 donuts.



Daily Word Problem
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Name: E-43

Jamal and Sasha compared who could jump the farthest in 
a sand pit. Jamal jumped 4.07 meters and Sasha jumped 4.7 
meters. Who jumped the farthest?

_____________________________________________________________

_____________________________________________________________

_____________________________________________________________

_____________________________________________________________

_____________________________________________________________

Explain your reasoning.



Daily Word Problem
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Name: E-44

answer: ____________________

expression: ____________________

Lynda and Caleb went fishing. Caleb caught 19 fewer fish 
than Lynda. Lynda caught 75 fish. Write an expression to 
show how many fish Caleb caught.

Use the expression to determine how many fish Caleb 
caught.

Show your work.



Daily Word Problem
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Name: E-45

________________________

How many total miles did the 
truck have on it when Damon 
sold it?

________________________

How many more miles does 
the truck need to be driven to 
reach 100,000 miles?

Show your work.

Damon bought a truck with 45,362 miles on it. He drove it 
another 21,789 miles before selling it.



Daily Word Problem

ANSWERSE-41 through E-45

1.58 + 0.46 = 2.04
2.04 + 2.04 = 4.08  or

165 ÷ 12 = 13 r9

45,362 + 21,789 = 67,151

2.04 × 2 = 4.08

100,000 -- 67,151 = 32,849
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________________________

How many total miles did the 
truck have on it when Damon 
sold it?

________________________

How many more miles does 
the truck need to be driven to 
reach 100,000 miles?

Show your work.

Damon bought a truck with 45,362 miles on it. He drove it 
another 21,789 miles before selling it.

answer: ____________________

expression: ____________________

Lynda and Caleb went fishing. Caleb caught 19 fewer fish 
than Lynda. Lynda caught 75 fish. Write an expression to 
show how many fish Caleb caught.

Use the expression to determine how many fish Caleb 
caught.

Show your work.

Jamal and Sasha compared who could jump the farthest 
in a sand pit. Jamal jumped 4.07 meters and Sasha 
jumped 4.7 meters. Who jumped the farthest?

_____________________________________________________________

_____________________________________________________________

_____________________________________________________________

_____________________________________________________________

_____________________________________________________________

Explain your reasoning.________________________
How many boxes did they 
need for this order?

________________________
How many donuts were in  
the box that wasn’t full?

Show your work.

The Donut Hut packages donuts in boxes of 12. They had 
an order for 165 donuts.

________________________How many miles did Emily walk?

________________________

Suppose Emily walks the same 
route back home. How many 
miles did she walk in all?

Show your work.

The park is located 1.58 miles east of Emily’s house, and 
the ice cream shop is 0.46 miles south of the park. Emily 
walked from her house to the park, and then from the park 
to the ice cream shop.

1.58 miles

0.46 miles

2.04 miles

4.08 miles

14 boxes

9 donuts

56 fish

75 -- 19

75 -- 19 = 56

67,151 miles

32,849 miles

Sasha jumped farther because 4.7 
is greater than 4.07. Tenths are 
greater than hundredths.


